.Adv. No. 7/2015 Cat No. 07, Auditor (Local Audit Department, Haryana)
Morning Session

Q1. Who is considered as the founder of Bengaluru?

A. Kanaka Dasa

C. Kempe Gowda
Q1. T FT FEATIF e AT ST 82
A. helahl QAT

C. &g aiter

B. Saalumarada Thimmakka

D. Basavanna

B.d aomﬁ?:ﬂw

D. s8deT

Q2. Which currency notes were demonitised in November 2016?

A. 100 and 1000
C. 100 and 500

B. 50 and 500
D. 500 and 1000

Q2. AFF=T 2016 # fhar-fher HIY el 1 Ragdrehvor gar ar?

A. 100 3ik 1000

C. 100 3R 500

Q3. Kaziranga National Park is located in
A. Assam

C. Uttar Pradesh
Q3. FARAN AT ITH H a1
A. 31@H

C. 3 Ue=r

Q4. Pradhan Mantri Mudra Yojana is a

B. 50 3R 500

D. 500 3iX 1000

B. Bihar
D. Meghalaya

B. fagr
D. AUty

A. Scheme for providing accident insurance cover
to Indian citizens

C. Scheme for providing funding to non-corporate
small business sector

Q4. wut FAY HgT A gl
A. HRCE FATTRERT T GEET STHAT &I & T Areter

C. IR-HIURE oY FAHT &7 I el eI FTeT T
QST

B. Scheme for securing future of girl child

D. Scheme for providing life insurance cover to
Indian citizens

B. afoerdl & srfasy st griaid aeet 1 Fretar
D. HRCAG AR T Siidet ST GI&T oA T Frsfat
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Q5. The Third battle of Panipat was fought in

A. 1776 B. 1765
C. 1761 D. 1762
Q5. griga Y Aud aErE # ot o$ oy

A. 1776 B. 1765
C. 1761 D. 1762

Q6. King Harshavardhana established his capital at Thanesar near Kurukshetra in
AD.

A. 800 B. 600

C. 700 D. 900

Q6. TS g¥aYd o | H FEIT & U YTAWT A It Jorerrett TR |

A. 800 B. 600

C. 700 D. 900

Q7. gave Haryana the name 'Harna’'.

A. Maharaj Krishan B. Maharaj Vaidya

C. Maharaj Vardhana D. Maharaj Chand

Q7. o RO FT A1 g T ATl

A. FBRTST ST B. HERIS dd

C. AR gt D. HgRIS dleg

Q8. was the last Hindu ruler of Delhi who was born in Rewari, Haryana.
A. Maharaja Ranvijay Singh B. Samrat Hemchandra Vikramaditya
C. Samrat Dhyan Chandra D. Prithvi Raj Chauhan

Qs. gREToT & Yar # e A A, e  sifaw g amas &

A. HERTST oTfasra &g B. ¥HIC gAdeg [AshATecd

C. A &1 dogy D. g Tref digre

.Adv. No. 7/2015 Cat No. 07, Auditor (Local Audit Department, Haryana)
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Q9. Sakshi Malik belongs to which district of Haryana?

A. Hisar B. Faridabad
C. Rohtak D. Rewari
Q9. wrah #faw, =T F frg forer Y are §2

A. RER B. ®{lerere
C. Vgh D. &

Q10. Which of the following has a cargo airport in Haryana?

A. Karnal B. Rohtak

C. Hisar D. Chandigarh
Q10. ==faf@a & ¥ Fi, RN F1 v FEf vaTAE {2

A. &L B. Vs

C. fgER D. d81g

Q11. Who is the current Finance Minister of Haryana?

A. Anil Vij B. Om Prakash Dhankar
C. Ram Bilas Sharma D. Captain Abhimanyu
Q11. adATT & RN 1 facq #75 wie 82

A. 31fe¥er fast B. 31 JehTer ereiehy

C. & forema e D. &ved 3fH=g

.Adv. No. 7/2015 Cat No. 07, Auditor (Local Audit Department, Haryana)

Q12. In which category did Vinesh Phogat win the Silver medal in the Asian Wresting

Championship, 2017?
A. 45 kg B. 50 kg
C. 55 kg D. 60 kg

Q12. 2017 # vRIAT$ Fch APqgarRia & ferer where & frw Ao # Tora ggw Shtar a2

A. 45 fRolt B. 50 el
C. 55 forell D. 60 far
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.Adv. No. 7/2015 Cat No. 07, Auditor (Local Audit Department, Haryana)
Morning Session

Q13. Which village in Haryana has been renamed as Saraswati Nagar?
A. Zaria B. Mustafabad

C. Kaduna D. Neemrana
Q13. RO F FH 7T FT ATH TGdT IR I@T 3T §?
A. ST B. FTABIETE

C. g D. #AFRTAT

Q14. Which award was recently given to Mahaveer Singh Phogat by the Indian government?

A. National Teachers Award B. Dronacharya Award
C. Arjuna Award D. Khel Ratna

Q14. R WK IRT HETAR A BRI FT g1 & & FleT [T [EHR o 12w 4r?
A. TS fR1ETh qRERR B. ST YEHR

C. 3ol [ERR D. Wl e

Q15. Which Saint-poet's birth is linked with the village called Sihi?
A. Surender Sharma B. Haridas

C. Deep Chand Bahman D. Surdas
Q15. fF¥ HA-FA & A FT FFat WG ATHAF 1T 4 §?
A. Qg AT B. gRerd

C. &I dg SgHeT D. T

[N

Q16. Who wrote 'Haryana Ka Itihas'?
A. Pandit Shri Ram Sharma

@

. Dhanpat Singh

O

C. Pandit Mange Ram

Q16. "gf=mon Fr sfag Faa forar?
A. afsa & T AT

C. 9fsd AR I D. &1t #7191l

. Baje Bhagat

oY)

. g4 &g
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Q17. In which year was Dainik Haribhoomi published for the first time in Haryana?

A. 1995 B. 1997
C. 1998 D. 1996
Q17. fw a¥ # gRamon & vgeh ar 3faw sRefd vl g€ o2

A. 1995 B. 1997
C. 1998 D. 1996

Q18. Haryanavi Ramayan was composed by

A. Khuda Baksh Ahmed B. Surdas

C. Kalidas D. Pandit Mange Ram
Q18. gIIroTdY IATIT FHr [T F Fr o

A. TeT ST 3gHS B. qXard

C. ifarerd D. ufsa AR I
Q19. Gurudwara Manji Sahib is located at

A. Chandigarh B. Ambala

C. Karnal D. Hisar

Q19. TFEART Halt wifgw # Rua g

A. T8 B. 3reTelr

C. FEATe D. fgar

Q20. The river is a tributary of the Ghaggar river.
A. Markanda B. Indori

C. Dohan D. Krishnavati
Q20. ), 99IR A4 Y UF WeHF A4l g1

A. AGS B. Searl

C. agd D. Fsomddr
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Q21. Where is the Asigarh Fort located in Haryana?

A. Hansi B. Bahadurgarh
C. Sirsa D. Agroha
Q21. 3fAere fram gRamon 7 Fgr Rya §2?

A. g B. SEGUTG

C. fazar D. 373er

Q22. Kalesar National Park is situated in district.
A. Hisar B. Rewari

C. Yamunanagar D. Karnal

Q2. FAMTE 3G S d Rua &l

A. fRaR B. Yarsr

C. IHATR D. &aTel

Q23. The Jui Irrigation system is an example of irrigation.
A. Gravity B. Drip

C. Sprinkler D. Lift

Q23. ERag yomelt, TS &1 v 3am670T B

A. AFE I1 TEcarRgoT B. i3 ar ey
C. user a1 Bswa D. foiwre T 3o1@

Q24. Which two districts are irrigated by the Gurgaon canal?
A. Gurgaon, Rewari B. Gurgaon, Bhiwani

C. Gurgaon, Faridabad D. Gurgaon, Rohtak
Q24. Tza1a weT & et & foralt 7 =TS gl 82
A. 93T, Yarst B. 3[39md, farer

C. 7591, Hrerere D. 93, Ageish

.Adv. No. 7/2015 Cat No. 07, Auditor (Local Audit Department, Haryana)
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Q25. What is the minimum age limit to be the Governor of an Indian state?

A. 35 B. 40
C. 42 D. 32
Q25. HRAT TS & TSI HY FqeTaH 31 HAT fretett Bl §2
A. 35 B. 40
C. 42 D. 32

Q26. Jakhal Junction is located in which district?
A. Panchkula B. Sonepat
C. Faridabad D. Fatehabad

Q26. JTEe SFA v forer F Rua 2
A. Fagell B. H=iaa

C. WigErg D. Bdglelg

Q27. The Central Government's Dairy Research Centre is in

A. Hisar B. Kurukshetra
C. Sirsa D. Karnal
Q27. ¥ WER FT G HTHU Fg0 # feud &1

A. figER B. FeaT

C. fagar D. &eTel

Q28. Baisakhi in Haryana is mainly popular in

A. Hisar B. Kurukshetra
C. Pinjore D. Kaithal
Q28. gRamom F durE qET T & # A=l

A. fgar B. FeaT

C. sk D. Hya

.Adv. No. 7/2015 Cat No. 07, Auditor (Local Audit Department, Haryana)
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Q29. 'Operation Durga' in Haryana is linked with

A. Safety of Men B. Safety of Child
C. Safety of Women D. Safety of Temple
Q29. RO F 'ieerT AT FT wEATH ¥R

A. gt i grat B. sl & gram

C. A3 T gram D. HEI T &t

Q30. Pick the odd one out:

Swimming, Fishing, Driving, Diving

A. Swimming B. Driving
C. Diving D. Fishing
Q30.

I T I HL:

R, AEgTTe, SR, MaE

A. TRThT B. g

C. @y D. HAcEIUTI

Q31. Find the analogy.

Cdd : Dcc :: Fgg :

A. Gff B. fGG
C. GfG D. gFg
Q31.

AT HER-TAE Ge

Cdd : Dcc :: Fgg :
A. Gff B. fGG
C. GfG D. gFg

.Adv. No. 7/2015 Cat No. 07, Auditor (Local Audit Department, Haryana)

Page 8 of 28



.Adv. No. 7/2015 Cat No. 07, Auditor (Local Audit Department, Haryana)
Morning Session

Q32. What should come at the place of question mark (?) in the following number series?

4,9, 16, 25, 36,?

A. 42 B. 49
C. 45 D. 46
Q32.

frafaf@a wear yaar # e fee (?) & e W) 747 g aifRe?

4,9, 16, 25, 36, ?
A. 42 B. 49
C. 45 D. 46

Q33. If GOLD is coded as EMJB, how to code COIN?
A. EQKP B. NIOC
C. DQKP D. AMGL

Q33. g T FIs #4191 # GOLD F EMIB for@r Srar § aY COIN ! Fa1 T sreen?

A. EQKP B. NIOC
C. DQKP D. AMGL
0 1
s 0 R
Q34. S 15 | Find the value of x.
178 1g8
A. & B.
_ 164 136
C 3 D. 7
—+11 = 1
Q34. 3%} ¢ 15 Y aY x F1 AT AT HI
v 1o
A6 B. 3
_ 164 136
C 3 D. 7
Q35. The probability of a number is always
A. Equal to 1 B. Greater than 1
C. Equal to 0 D. Between 0 and 1
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Q35. Ts HEAT FY THTEAT gae gl B
A. 1 F R B. 1 ¥ 318
C. 0 & seX D.03R 1&g

Q36. Varun got 85% in history test. If the test was out of 50 marks, what was his score in
the test?

A. 42.50 B. 40.50
C. 39.50 D. 41.50
Q36. 0T F i Hir T A 85% 3w fAram A adaw 50 3F Hir At A afiew F 3§ Fo e % Bar ar?

A. 42.50 B. 40.50
C. 39.50 D. 41.50

Q37. A mixer costs Rs.7500. Charu buys it at a discount of 12%. She then sells the mixer for
Rs.9800. How much profit did Charu make?

A. Rs.2600 B. Rs.3200
C. Rs.1400 D. Rs.2100

Q37. tw fAFwY I dnTd 7500 F9F 71 % 3H 12% # g¢ W @G §1 38F a1¢ 98 58 9800 T4 # a7 &t
¥ 9T o Rrae e FATT?

A. 2600 ¥9 B. 3200 394

C. 1400 ¥9& D. 2100 ¥93

Q38. mirrors are usually used as rear-view mirrors in vehicles.
A. Concave B. Convex

C. Plane D. Flat

Q38. mf¥at # Rav-=g AW & w7 # sk W gdort T Ut AT ST §1

A. 3ddel B. 3cdel

C. gAdd D. Felc
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Q39. The reaction in which acids react with bases to form salt and water is known as

A. Displacement

C. Oxidation

Q39. 5w 9fafrar & 35w, &R & AT GfAfFAT FF Fa79F 3 9=l a7 § 37 wfafsar #r

{ ST AT B
A. feamas

C. 3iTergiaor

Q40. Green plants are also called as
A. Autotrophs

C. Consumers
Q40.gXds-dlefw__ s wgramar gl
A. TaUNY

C. 39dedr

Q41. is the synonym of "urgent".
A. Useful
C. Critical

Q42. is the antonym of "scarcity".

A. Frightening

C. Pleasant

Q43. Identify the meaning of the idiom:

"A drop in the ocean".
A. A small part of what is needed

C. Only a small task is left to be completed

B. Neutralization

D. Reduction

. faeyemdeRoT
. TgATRLOT

LY

B. Heterotrophs

. Scavengers

RCLE I
. g

B. Unavailable

. Huge

B. Plenty
. Troubled

B. A small person

. To fall deep in a trouble

& dA
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Morning Session

Q44. The sentence given below may contain one or more mistakes. Identify the correct
sentence.

"The cattle was grazing in Ramu's field when the jackal attacked.”

A. The cattles was grazing in Ramu's field when B. The cattle were grazing in Ramu's field when
the jackal attacked. the jackal attacked.

C. The cattles were grazing in Ramu's field when D. The cattle was grazing in Ramu's field when
the jackal attacked. jackal attacked.

Q45. Complete the sentence by choosing the correct form of the verb given in brackets.

The thief (catch) by the crowd.

A. were caught B. were catch

C. were catching D. was caught
Q46. A @ 2reg T qFTIATH 2reg TATSA |

T

A. J&RTST B. IAUS

C. argea D. faderar

Q47. A @ 7Y 2reg #1 RAqda (FaT) 2reg aar=y |

IGR

A. FTHR B. sAfee

C. WY D. 3FeR

Q48. A A & gAY 1 39GFA e qard|

BT o HATAT

A. FYeT g STt B. ®ell & &€ I
C. ag?rwr—rra’m D. FUS B & AT
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Q49. I for g reg FT Thaud TAR|

Yot
A. 9 B. 97

9 9
C. & D. sl
Q50. mmammagﬁﬂaam
%]
A. 3 B. ®qU
C. %q¢ D. Fg#
Q51. Accounting of Fixed Asset is done as per
A. AS 3 B. AS 5
C.AS 6 D. AS 10
Q51. aes IATH T FFBRAT gt ¥ B HrTaR AiY STl 82
A. AS 3 B. AS 5
C.AS 6 D. AS 10

Q52. The deduction allowed by creditor to debtor with a view to encourage quick and
prompt payment is

A. Trade discount B. Purchase return

C. Cash discount D. Sales return

Q52. i YT F Forar & F fAT FfFeT ganT Isex Ft A ge/FAN & e & 3@ T Fea §2
A. 3 fSTI3e B. T Reat

C. & f3&3e D. fed Rt

Q53. A vehicle purchased for Rs.375000 whose depreciated book value is Rs. 150000 is sold
for Rs 125000. What is the loss or profit to be accounted?

A. Profit of Rs.25000 B. Loss of Rs.225000
C. Loss of Rs.25000 D. Profit of Rs.250000
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Morning Session

Q53. UF aret ¥. 375000 FT EaT 71T AT 3H BRI 7% 3o 3. 150000 ¥ AR 3@ 3. 125000 # a7
& o3| @i # fede et I gl femman sreen?
A. %, 25000 =1 oI B. ¥. 225000 r gifer

C. %. 25000 $r gy D. &. 250000 & oot

Q54. Which among the following is the correct one?

A. Asset + liability = capital B. Capital + asset= liability

C. Liability - reserve = asset D. Asset - liability = owner's fund
Q54. 3aH ¥ FiT 71 TE B2

A. 38T + arafafed = e B. $fca + 3@ = arafaferdr

C. arafaferdy - Rad = e D. 31T - AR = T & B8

Q55. Mr. X purchased goods costing Rs.30000 at trade discount 5% and cash discount 1%.
Amount to be recorded in purchase account is .

A. Rs 29000 B. Rs 28500
C. Rs 28215 D. Rs 30000

Q55. SATE X & T. 30000 HeT FH TV 5% & ¢3 BEane 3R 1% F Fer Brwse w alidh waw s@se J
et T Ters soeit?

A. %. 29000 B. . 28500

C. 3. 28215 D. %. 30000

Q56. In hire purchase system asset account is debited with of the asset in the
books of hire purchaser.

A. Down payment B. Hire purchase price

C. Installment price D. Cash price

Q56. FR (Hire) Waw AT & 3T HH13¢ HN, §1E WAdoK & Trdl A AT F ¥ e frar
ST 1

A. 3134 UHe B. 8RR G 9

C. ¥cloidie wisd D. &her gisd
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Morning Session

Q57. Insurance paid on 1.9.2013 is Rs 12000. What is the amount to be transferred to
prepaid insurance account for the year ended 2014?

A. Rs.7000 B. Rs.12000

C. Rs.9000 D. Rs.5000

Q57. 1.9.2013 FI THT$ 7§ $2AN-H %. 12000 ¥1 2014 F FaATed a¥ F AT Mz SeaR=w IrFr3e & fraah
TR TRABT HT T2

A.%. 7000 B. %. 12000

C. . 9000 D. ®. 5000

Q58. Using capitalization method, find out goodwill, given that capital employed is
Rs.150000, reasonable rate of return 15%, profit for the year Rs.30000.

A. Rs 50000 B. Rs.970000

C. Rs.800000 D. Rs.7500

Q58. Fearger Ry F1 373k 3 g Rw 7 Y, a1 ¥ & #1077 a8 78 FRew (FRew Wwaige) @.
150000 &, dsaaa ¥T 3P Rt 15% ¢, a¥ & qred «a1s7 3. 30000 B

A. %. 50000 B. . 970000

C. %. 800000 D.%. 7500

Q59. Capital at the beginning of the accounting year in case of single entry system is
ascertained by preparing .

A. Cash account B. Bank account

C. Bank reconciliation statement D. Opening statement of affairs

Q59. e ¥ Rvew F Bl a¥f i v # FRea RR FF ghafvaa R s 2
A. & 33T B. d% 33T

C. d% Jwifeaerere weede D. 3irafeer T 3w Ihad

Q60. Inherent limitation of audit is
A. True and fair view B. Confidentiality

C. Undetected fraud D. Integrity
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Q60. 3iif3T Y TF Fgar HY reqar HAT |

A. T T fTsaeT T2 B. IMNYaAradr

C. I8 T YT & &Y e D. qofar & ggar

Q61. risk is unavoidable in nature and are bound to arise since accounts are
susceptible.

A. Control B. Financial

C. Detection D. Inherent

Q61. Rew 1 yfar ot @Yl B & 378 @ a7t o W 3R s 35 @St g Y § FifE
P Afaudedia (Fdfeaer) g §1

A. el B. IS ool

C. f3ezera D. S=ic

Q62. is an attitude that includes a questioning mind and critical assessment of
audit evidence

A. Professional judgment B. Professional skepticism

C. Professional ethics D. Audit documentation

Q62. uF T T/ wasna ¢ we warer # aren R sk st & wagt w1 wHteens
(critical) AT FI anfda g

A. SaaaRS [Avi B. SIIqHTRIS GATATG

C. =@t sifcierdr D. 3iif3e Sty

Q63. Responsibility of auditor is to

od]

A. Prepare financial statement . Express opinion on financial statement

O

C. Detect fraud in financial statement
Q63. 313 ¥ FT 3Hifex A Fwaard 82
A. BISARITS TeeAT IR T . TISATRITS TETHE TR AT The el
C. AR Tece & Wig T IaT eI D. 318y &I &I Hal

. Safeguard of assets

od)
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Q64. Audit materiality is inversely proportional to

A. Audit risk B. Detection risk

C. Control risk D. Inherent risk

Q64. 33T AANARAE (3iifde arfcawar) frad sqcraTTaT (Faawel yaedae) 82

A. 3iifse R B. f3taerat R

C. &grd REw D. segic R&=

Q65. is audit or verification of transactions or activities of an organization
continuously as the transaction takes place.

A. Statutory audit B. Tax audit

C. Concurrent audit D. Cost audit

Q65. AR 5t Horea & Aaeer a1 FaTant (WFERET) F1 3% @ F WY-T1Y & 33T ar
ARFrFee 71 Ft Fa &

A. T=glr (statutory) 3ifse B. ¢ 3iif3c

C. @l=hie (concurrent) 3iifse D. ree 3iif3e

Q66. Identify nostro account from the following :

A. Bank of America holding super account with B. SBI holding US S in America with Bank of

SBI in Delhi America

C. SBI holding account in other banks in India D. SBI savings account

Q66. AFAIRFT H ¥ AT HFIE3C IgaT :

A. SBI el #, o 3Tt 3ARHT T R b3 B. 31ARST & d 31T 3@ & SBI & S#AT USS

C. SBI & HRA & 31« sohl H 3Th13C D. SBI &fded 31#3c

Q67. are the price bands that set the upper and lower limit within which a stock
can fluctuate in a particular day.

A. Unexpired risk reserve B. Volatility margin

C. Mark to market margin D. Circuit filters
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Morning Session

Q67. at 7eg 95 § Y 3 F9N 7 el @it F a7 w3 § ad f= B wiE w1 s R
e Iy & IW-AT AT TFHar g1

A. 3eTteraraE Reh Refd
C. #H1% T AThe AlfoieT

Q68. Find out the current ratio:

Sundry debtors Rs. 15000

Short term investments Rs. 2000
Stocks Rs. 3000

Bills payable Rs. 5000

Expenses payable Rs. 7000

A. 1.75:1
C.1.79:1

Q68.

Fie A AT F:

R 35 3. 15000

eTE T F=dveHeH 5. 2000
TeIF 5. 3000

faew AN T. 5000
Fifs RS 3. 7000

A.1.75:1
C. 1.79:1

Q69. Increase in working capital shows
A. Application of fund

C. Loss from operation

Q69. afr FRed & A1 arell Tod w1 @ &
A. $8 FT 3TN H AT ST (VAR 3TH H3)

C. e ¥ g1fer

B. araiefadr (volatility) ATfS=T
D. Tf¥e fheed

B. 1.68:1
D. 1.66:1

B. 1.68:1
D. 1.66:1

B. Source of fund

D. Fund from operation

B. g &1 A

D. 3TN ¥ B8
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Q70. is a technique of costing which differentiates between fixed costs and
variable costs and charging only variable costs to products.

A. Absorption costing B. Standard costing

C. Batch costing D. Marginal costing

Q7o0. FITEET Y TF adhed § o1 ez Freed 3T RIS Fieew & Aeaw Fe ¥ 31 Wsaew
W Fad IRART Fieew & Tret F R

A. Usareele Sifecar B. T3E HIeedT

C. ST Siecar D. HATfoisTel T

Q71. Break Even Point (BEP) is

A. Fixed expenses / contribution per unit B. PV ratio / contribution per unit

C. Profit / contribution per unit D. Variable expenses / contribution per unit
Q71. 3% £f= uige (BEP) FAT g1 82

A. Theres s / Sidege 9fd Ifae B. PV IR / &idiege ufar gfore

C. o187 / Hidregert ufc gl D. aRAfTer teradflst / slidregere gfa giae

Q72. What will margin of safety be at profit of Rs. 5000 when contribution and sales are Rs.
8000 and Rs. 20000 respectively will be

A. Rs.12500 B. Rs.10000
C. Rs.11000 D. Rs.11500

Q72. 5= FIdregert AR Wew Faer: T. 8000 3K . 20000 & A 7. 5000 F w1 W ATfIT i WwE F747 ghanr?

A. %. 12500 B. . 10000
C.%. 11000 D.%. 11500
Q73. is a technique which involves identification of cost with each cost driving

activity and making it as the basis for apportionment/assignment of costs over different
cost objects/jobs/products/customers/services.

A. Job costing B. ABC Analysis

C. Process costing D. Product cost
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Q73. T deais ¢ aH g3 siee s MFedd & fav sice Y ygarer i ard § v 3@
Raffee Five siteotaca/eq/ Neaeq / F¥cAd /AT W FecH FT S/ FABAANEC FA & YR & T A
SEAATA FRaT ST 1

A. TS FIecaT B. ABC tarfafad
C. 9189 HITeeaT D. WSaC HIXC
Q74. is a geometrical progression which reveals the steadily decreasing costs

for the accomplishment of a given repetitive operation, as the identical operation is
increasingly repeated.

A. Learning curve B. Simulation

C. Linear programming D. Assignment

Q74. 5« Tl THTATT HTIAA FT G1gIT T&dT ST T@T gYar ¢ ar % Jolea Aoft (e
WEET) el ¥ S 3W TRER g aTer ST A g A & AT AR gedt S W ey F garar Fd
A. afeler &a B. faegerer

C. oiferzx granfHer D. 3 sade

Q75. EOQ = 120 units carrying cost per unit per annum = Rs. 20 buying or ordering cost per
order = Rs. 40 Annual requirement of raw material is

A. 1296 units B. 3600 units

C. 60 units D. 4600 units

Q75. EOQ = 120 IfacH, HRer (carrying) Fivew ufa Ifae ufar a¥ = 5. 20, @die sraar AEReT Fiee wfar
ST = 5. 40, F=2 AT F AT AT ATTIFAT gt

A. 1296 gfaeHd B. 3600 IfaicH

C. 60 gfaeH D. 4600 IfoleH

Q76. indicates the level of operation below which it is not justifiable to pursue
production.

A. Breakeven point B. Indifference point

C. Shutdown point D. Difference point
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Q76. IV & 37 T FT Hohd dT ¢ ora@F A, WsFreT ) I@T 3T A8 War (F1IS F1
wler w1gt wgam) |

A. SFsfaT dise B. sfeamid dise

C. 2ear3 uise D. fwiw dige

Q77. Virtual Access Method (VAM) is used in

A. Simulation B. Transportation

C. Time series analysis D. Network analysis

Q77. 343« AW Ays (VAM) &1 39T fraat famam simam 22

A. RegerreT B. graqréerst

C. TrsH W@t varfafaa D. seas vefafad

Q78. is the price which one unit of firm charges for a product supplied or
service rendered to another sub unit of same firm.

A. Marginal pricing B. Cost plus pricing

C. Transfer pricing D. Contract pricing

Q78. IF WSH & St el wol Y v gfere, 3E wol Y el wa-gfare Y agae AT sisae At et
geTd $1 71§ afdw & AT arst w3t §1

A. ATIferer grsfder B. i¥e Torg wrsfaer

C. iAW Fisf&er D. dicee usfder

Q79. is a budget which by recognizing the difference between fixed, semi
variable and variable costs is designed to change in relation to level of activity.

A. Flexible budgeting B. Functional budgeting

C. Fixed budgeting D. Master budgeting

Q79. TH AT S9ie T § o e, de-dRAfee i ARl Fivcw F T & sear B anfAw
1 T, AFeAE & A9 F GII-IT a¢ax F AT Romea Far smar 1

A. welfFafee sorfear B. herleTol Soffedr

C. fhares safdar D. AR Fafear
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Q80. Trend analysis is significant for

@

A. Profit planning . Capital budgeting

O

C. Working capital management . Forecasting and budgeting

Q80. &5 (Trend) ¥enfafdw frwd faw Fgcayet 82
A. oTH &1 cafaier & faw B. $¥ee Seifedr & v

C. T $ied & Aaedle & T D. qaefaTet (BRerEeaT) 3R asifear & fow
Q81. Responsibility centre is

A. Cost centre B. Production centre

C. Revenue centre D. Profit centre

Q81. Ruifrafafad dex Far §?

A. Five X B. WiseeeT Hex

C. Rd=g dex D. o #X

Q82. Costs of resources consumed by activities are grouped into
A. Cost pools B. Cost object

C. Cost driver D. Cost resource

Q82. ¥fFefadisr garr sFaAT frw v RaRfer At Fivcw & frw 9 7 @ smar 82

A. FIE Tel B. &Iee 3ifsote
C. FIET BR D. ®ive Rar

Q83. A company, other than an Indian company, would be a resident in India for FY 2012-
13, if during that year its control and management is situated

A. Partly in India B. Wholly in India

C. Wholly or partly in India D. Any Place in India other than Kerala

Q83. TF F5udl, I fF HRAT Fouet 7 g), F RAeaay 2012-13 F AT 94RT F71 FAary (e s 339T) A=
ST 3R 3HSHT Here 3R Aaorde Rua 8

A. JTRI% &9 § #RA H B. Q¥ & & 8 &

C. g0t o & 1 e 3711 &7 & HRa & D. el o 37elTdl SR & el ofy Tarer #F
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Q84. Mr. A incurred short term capital loss of Rs.10000 on sale of shares through the
national stock exchange. Such loss can be set off against

A. Both short term capital gain and long term B. Only against short term capital gain
capital gain
C. Only against long term capital gain D. Any head of income

Q84. AT A & AereTel Teih VFUST & FART AT I W T. 10000 F7 2i¢ < FRew A I/ 57 aE &
A (1) Y FuF waer (3re) AT e BFar s gahar 82

A. 2iT¢ &3 Sftea A 3R dior of FRea A=, =t & B. %had 2T T Hfee AT & THeT
qAeT

C. dhad ol e FRed AT & THeT D. SoTohd & fordT off §35 & TaeT

Q85. Where an assessee has two house properties for self occupation, the benefit of nil
annual value will be available in respect of .

A. Both properties B. The property which acquired/constructed first
C. Any one of the properties at the option of D. Both properties will be taxed
assessee

Q85. et et F fFAuiRelt (3l & fsh amw (Hew ifagaenT) F v & g3w giadhar & o e Soprar deg &1
a1 FuS gEaey A AAIm?

A. @yt gradier & forw B. 39 Wil & fow T8 Ul TIST AT S=1a12T 31T A7

C. a1 gradliesr & I frdl T & v forgenT a3+ &e- D. =T Yiélar W g form sirwam
TR (3 wear @

Q86. Where there is a decision to increase the D.A in March 2012 with retrospective effect
from 1.4.2009 and the increased D.A is received in April, 2012, the increase is taxable

A. In the previous year 2011-12 B. In the previous year 2012-13

C. In the respective year to which it relate D. In the year 2010-2011

Q86. &l AT 2012 # D.A. # Telcadl FA F1 hwem 1.4.2009 § qdeard wsrma (YoredfFea shae) & wra fon
71T g 3R a1 g3 D.A. 3, 2012 F 9Ted g3 & A Ig F@read drafae gl

A. Ooer a¥ 2011-12 & B. oo a¥ 2012-13 &

C. 39 a¥ # 0y Ig FFeey 3@l ¢ D.d¥ 2010-11 &
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Q87. Income from letting of machinery, plant and furniture is chargeable to

A. Always to profits and gains of business and B. Always under income from other source
profession
C. Income from other source if not chargeable D. Under house property

under the head profits and gains from business
and profession

Q87. #efierdl, waie 3R WeffeR Y BT W & F g8 gerehar Fhaed wSifarer 82

A. g €1 Witthed US A= (gains) 3iTh fae=ig Us B. BHRIT &) SThd WA 376X A &
9T &

C. STha I 31T AR H, 3PR Uiithed US e D. g138 W<l & 3idaid
(gains) WA 91 US UIher & &8 & aToiiae el ar

Q88. Which one of the following best explains 'Money'?

A. It is a medium for producing capital goods. B. It is a means for redistributing wealth among
people.

C. It is a common denominator for measuring D. It is a mechanism for resource allocation.

value.

Q88. 3aH ¥ &7 a1 ey "uT’ FT Fafedd sarEar Sar &2

A. TE HTUTT I[EH T ScuTeet el & [T Teh AEIA &1 B. g A1 o el Hoer (do) 1 GoT: faeRor iet &1
aqrer g

C. I 7T (I¢7) HI AT HT FAWISS &Y AT 7oA D. Ig & &I 31cihe w1 FRAAR
37iehel aTell (HTHT BAAA) &l

Q89. Convertibility to the Indian rupee implies that

A. The Indian Rupee can be exchanged by the B. The Indian Rupee can be exchanged for any
authorized dealers for the purpose of education. major currency for the purpose of trade in goods
and services.

C. The Indian Rupee can be exchanged for any D. The Indian Rupee can be exchanged for any
major currency for the purpose of financial assets. major currency for the purpose of agriculture.
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Q89. HRAT YA H Fafefafad) FT AdAT & I
A. TS[heIe & 322 U 31T STel HRAT $9 &1 B. a3¥ 3R AR 7 FRITN #¥e & 3337 & HRAT
fafeea (Yerasier) T gad 9 1 fafeea (Yeraeier) ol off vog@ et (AR

FIHY) F Tqry FAT ST AT B

C. BTSRRI 3ACH & 3837 ¥ RAT 39 & [AfdTT D, Tdr & 32T T AR 39 T Afad T (YFaan)
(Yererior) forelt it wore oeT (AoR HYE) & rer frar o el oft worw AeT (FSR iE) & @ frar o aear B
el g

Q90. In the context of balance of payments portfolio investment relates to

A. Takeover of foreign companies. B. Purchase of shares in foreign companies.
C. Purchase of real estate in foreign countries. D. Private remittance to foreign countries
Q90. YHTH F THrET ¥ Hesl F WEmIfAAT sedvedle fFaw geefrua &2

A. Taeel srafaat & sfRergor (CH3naR)| B. facelt safaat 7 Rt i @l

C. facet & 3 gruafca (Rae tee) & @wlic| D. fageit & s/ eemawor fAdEm)|

Q91. Which one of the following is considered as non debt creating foreign investment
inflow?

A. Foreign direct investment B. External assistance

C. Borrowing from IMF D. Commercial borrowings

Q91. fawifa # & frd Afer Ssc Frefder Rt seawede sawal (o 3o+ fadelt fader siaate) Arem SraT 82
A. gcgeT faeel fAaer (PR srilee seavedc) B. ST WA (YFaesTor 3TAEeH)

C. IMF & 3YR o=l D. aroifsaes 3UTRAT (FART IRIEIw)

Q92. The growth process that is sustainable and yields broad-based benefits and ensures
equality of opportunity for all is termed as

A. Faster growth B. Inclusive growth

C. Balanced growth D. Sustained growth

Q92. aF MY WAw 3t Rz el 7 3 REqa-3murd (fs-a¥3) v &f § 3k waft & fow srawt i wareran
gfafaa F1ch §, 741 FEard 8?2

A. IR Fprd (BrEex A1) B. FATAR faehre (Swefelfad ATY)
C. Fford e (dies oY) D. ez faem (T&cs AT)

Page 25 of 28



.Adv. No. 7/2015 Cat No. 07, Auditor (Local Audit Department, Haryana)
Morning Session

Q93. Credit will contract when

A. Bank rate is lowered B. Open market operations policy of buying
government bond is adopted

C. Reserve requirement ratio is lowered D. Bank rate is raised

Q93. #f2c Rgsar ¢ o=

A. §F YT geT ST & B. TR diz @lca fr 3usT Arhe 3itResa aifordr
IS ST &

C. Rord Reraraweie IR & gerar srar § D. d& YT SorT ST &

Q94. Which one of the following situations occur during the period when borrowers and
lenders expect inflation?

A. The nominal rate of interest exceeds real rate B. The real rate of interest exceeds the nominal
of interest. rate of interest.

C. The nominal rate of interest equals the real D. Nominal and real rate of interest become zero.
rate of interest.

Q94. I FUR A aTeY 3 A ATeY 7EIS / AZFAY (=FarereT) Y 37Ig 1@t § Y gorot A e oy aRfeufy oot
adrg?

A. STTST &7 AlTATl Y&, sTTeT & Rt I T S g ST B. sTToT T RIS I&, =TTl & AlTAAST 3¢ F 31T &6 SArar
g gl

C. TS HT AR I, ST & Rl I & SE & ST D. TSl & AlfAeter 3R Ner I& qra a1 S & |
gl

Q95. Which one of the following tax is levied by Central Government?
A. Taxes on mineral rights B. Taxes on consumption and sale of electricity

C. Taxes on capital gains D. Tax on motor vehicles

Q95. 51 § FieT AT TFH Few WHN G@RT THAT ATl 82

A. AR TgcH W o B. fastelr & s&aATer 3R oy ©T E
C. &fcd I=d (gains) W T D. AleX JTgaT & o
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Q96. Lead Bank scheme is designed to

A. Regulate the use of credit. B. Control the activities of non-banking financial

institutions.

C. Help the weaker sections in a particular district. D. Have a more concentrated effort of a bank in a

particular district.

Q96. Nz A% T 7 Fafavw Bems Far = 2

A. H3T F STIATT F AIAT FA & fAT] B. I-dfer wiseifrerre sEegeea & tfaefada @

e e & foT|

C. fardly forar faQdw 3 FeAaik geif & g =t & fawl D, fanelt e faQiw & de & 31 feaa el &

foT)

Q97. Which method of costing is best suited for interior decorator?

A. Job costing B. Contract costing

C. Process costing D. Operating costing
Q97. & FANTT 3FNT & AT g7 { FleT AT ATT-FAUROT Fad 3UYFa F1omm?

A. Sife et - fereiRor B. fder smerd-faeior

C. ufsrar amera-fagior D. JaTeiId dReTd-fAeiRoT

Q98. Which of the following is an example of variable cost?
A. Property taxes B. Interest on capital

C. Direct material cost D. Depreciation of machinery

Q98. 31H ¥ FieT |1 Aweq TRad! arra F1 3eTETT §?

A. TUfed &3 B. Jsil W &1
C. JcgaT |rHa orerd D. #HMeRT &7 Hedsrd

Q99. Which of the following is a planned result than an enterprise aims to attain?
A. Forecast B. Budget

C. Marginal cost D. Production cost
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Q99. FFaAfaf@d & FAT yred FA F AT 3577 & 322t A Jorol1 & wF AT aRom §2

A. qaieTATe B. SeTc
C. HHATedh amTT D. 3cqTee dreTd

Q100. Which type of audit is more suitable where there is no satisfactory system of internal
check?

A. Continuous audit B. Periodical audit

C. Balance sheet audit D. Management audit

Q100. ¥ YR FT @ adtet JfF 3uFa ¢ STel AR SAta FY FI§ HaArwsrars yorelt #E A 52
A. A oG et B. 3afe or@r e

C. Tolel-u or@r uiet D. JSte or@T IeTm
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